oS 2 d Zol B = 90° ¢ 2747}

12, tanA == ¥ W, cosA + cos C & 3t2?
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2. sin30°sin 60° + cos 30° cos 60° + cos 45° sin 45° 2] ZH-&?

1+ V3 ®1+2«/§ ®1+\/§
4

@
@

2 2
1+ V3 @1+2«/§
4 2




th-& 193} o] AB 7} 2|29l B
A O oA sin A o] FHS FoHA?

12 13 5
®1§ @152 ® 2
@B 2
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the - o] x W] —30] 11, x
20] o] uhey} o) 2 7te] 277}
45790 A PHALS y = ax+ b

=g o, 0t b 2 FoE?
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0°<A<45° 4o, \/(sinA —cosA)2— /(sinA + cosA)? & I3
ShA?
® —2cosA @ -2sinA

® 0 @ 2sinA
® 2(sinA + cosA)



0°<A<45°d o, \/(sinA —cosA)? + \/(cosA -sinA)’> &
ShH?

@ sinA @ 2sinA
® —-2sinA + 2cosA @ —cosA

® 2cosA



the 193 o] ¥@Ho] ABCD ©]
2, @ A9 Aolr} 191 AATE
Al A-BCD 7} It} CD 9] $4&
E, /ABE = x 2t & o, cosx 9| %t
& o)

|
“|%

® Vi @ 3 @?



8. the 17 BAB APRE WAL Polrt1 0|1 FH% 2717
00° o]t}. DT} @ FH9| HolE 78 F @- 2 g2
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Ulo
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o

RE 29

@ sind5° = cos45°

® tan35° < tan40°

@ cos48° > cos38°
@ sin 56 ° < cos 56 °

@ sin37° < cos37°



10.

tan(A — 15°) = 1 ©]4l, x? — 2xtan A — 3(tan A)?> = 0 9]
TEFH? (00 < A <90°)

@ 3+v3, 243 @ -3, 3V3 ® 23
@ 23, V3 ® -3, -3v3

=
e

1
.

tlo



11. o3 23 Zo] vix]&2] deol7t 1 2l
AFEQ A OC = 0.59 € ©f, CD ¢ 4
o] & -5 ?

D
11/
Il
/
/
I
z 1
0) C
2Zte Al FALOI EtHE
53° 0.80 0.60 1.33
54° 0.81 0.59 1.38
55° 0.82 0.57 1,43
56° 0.83 0.56 1.48
D 0.57 @ 1.38 ® 0.59 @ 0.82 ® 0.81




12. o8& 23 Zo] .C = 90° ¢ AABC |4

AD =CD =BC =3v2°]1, /ABD = x &
S o], cosx 2] F2?

@‘/%1/_0_ @23‘/? @%
@210 @310

10 10




13. o3 293 & #7472y ABC 94 DELBC, FGLBC € o,
sinx — cosy 9] =27




the 187} Zo] 5.0ptAB o tiEt 93
Z¥o] 3717} 60° ©]1, AB = 8cm 91
O °f tfsto] M H FEo] Yol & 5t
S

@ 167 -2V3 (cm?) @ 16ﬂ—¥ (cm?)

© 577—?\/3 (em?)



15. o3& 283 Zo] W52 dol7h 1 9 ARZelA OC = 0.59 & o,
AB +CD 9| dol& +5t3?

B z | sin x| cos 7 | tan z

D 53°| 0.80| 0.60 | 1.33

1,// 54°| 0.81]0.59 | 1.38

// 55° | 0.82]0.57 | 1.43

& 56° | 0.83]0.56 | 1,48
(@) C A

D 2.25 @ 1.38 @ 2.19 @ 1.93 ® 0.81



